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QUESTION 1

Which three TCP/IP stacks are built in at the VMkernel level in vSphere 6 x? (Choose three.)
A. Fault Tolerance

B. vMotion

C. Provisioning

D. Management

E. Default

Correct Answer: BCE

QUESTION 2

When you attempt to open a virtual machine console from the vSphere Web Client, the console does not connect. The
following error message appears: Why did not connect?

HTTP ERROR 404

Problem accessing/.Reason:
Not Found

A. Port 443 is in use.
B. Port 9443 is in use.
C. Port 8443 is in use.
D. Port 22443 is in use.
Correct Answer: B

Another program or process is using port 9443, the default port used by the HTML5 virtual machine console.

QUESTION 3

An administrator would like to configure vSphere HA to use two isolation addresses.

How would this affect the behavior of HA?

A. If both isolation addresses are not reachable, the host will be restarted by the HA agent.

B. If both isolation addresses are not reachable, the host will use the vCenter Server IP address as a final isolation
address before being marked isolated.

C. If only one of the isolation addresses is reachable, the host will not be marked isolated by HA.
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D. If only one of the isolation addresses is reachable, the host will be considered in an isolated by HA.
Correct Answer: C

if you use two isolation addresses, and if only one of the isolation addresses is reachable, the host will not be marked
isolated by HA.

QUESTION 4

What is the result of a "Consolidate" action on a virtual machine?
A. All snapshots on the virtual machines will be deleted.

B. The virtual machine will be reverted to its last snapshot.

C. Redundant delta disks will be combined and deleted.

D. A new snapshot with memory state will be created.

Correct Answer: C

QUESTION 5

What is the default space threshold for vSphere Storage DRS?

A. 90%

B. 70%

C. 95%

D. 80%

Correct Answer: D

Explanation: https://kb.vmware.com/s/article/2149938 Load balancing based on Space and |0: Storage DRS

dynamically balance the Storage DRS cluster imbalance based on Space and IO threshold set. Default space threshold
per datastore is 80% and default IO latency threshold is 15ms.
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